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Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Define set and describe its different types in detail.

   

   

2. What do you understand by a function ? Explain with

examples algebric and transcendental functions.

        

    

3. Find the value of maxima and minima of the

following functions :

(i) 10123  xx

(ii) 62 23  xxx
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       



(i) 10123  xx

(ii) 62 23  xxx

4. The total cost function of production is  :

TC=200q - 5q2 + 0.05q3,

where q is quantity produced. Find out the output at

which marginal cost is equal to average cost.

     

TC=200q - 5q2 + 0.05q3,

q     

        

5. Find the inverse of the following matrix.

A =
 

















313

321

210
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     

A =
 

















313

321

210

Section–B / 

(Short-Answer-Type Questions) /    

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

(4×8=32)

    (08)      

      (08)   

  (04)  

 

1. Define Matrix and describe its types.

        


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2. Solve the following determinant :

356

4815

1007







    

356

4815

1007







3. If 674)( 2  xxxf

Find the value of )21(),2(),1( fff 

 674)( 2  xxxf   )21(),2(),1( fff 

   

4. Find the following integrals :

(i)  


dx

xx

xx
.

)42(

)1()8(
2

3
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(ii)  


dx

x

x
.

32

74

(iii)  
dx

x

x
.

2

2

     

(i)  


dx

xx

xx
.

)42(

)1()8(
2

3

(ii)  


dx

x

x
.

32

74

(iii)  
dx

x

x
.

2

2

5. If set A={1, 2, 3, 4} and set B={2, 3, 7, 8} then find

(i) 

(ii) 

(iii)  -

 A={1, 2, 3, 4}    B={2, 3,

7, 8}   

(6)A-0954



(i) 

(ii) 

(iii)  -

6. What are the main features of linear Programming.

      

7. D e s c r i b e  b r i e f l y m a i n  ( b a s i c )  r u l e s  o f

d i f f e r e n t i a t i o n .

      



8. Find value of A-2B+2C, if





















131

201

221

A
, 



















212

101

654

B

and 

























221

321

121

C
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A-2B+2C     





















131

201

221

A
, 



















212

101

654

B

 

























221

321

121

C

***************
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